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A5 R HDCP 0~12
20214 8H15H
JIEAT K4 OUT IN 18H HD NET
1 yAERm ) 33 35 68 6 62
2+BG AT FEE 33 31 64 1 63
3 KIH 1E(E 35 37 72 9 63
4 ATH &% 37 38 75 11 64
5 AIIEES 37 38 75 10 65
6 frEs =5 35 36 71 5 66
7 IR Y/ 35 40 75 9 66
8 FHE HR 40 38 78 11 67
9 KA K 41 38 79 10 69
10 H kA 38 39 77 8 69
11 fEA i 39 42 81 12 69
12 ey 5 41 38 79 9 70
13 I fi— 41 39 80 10 70
14 i s A, 40 39 79 9 70
15 BB FHIR 40 41 81 11 70
16 LR HZ 41 36 77 6 71
17 [t R 38 39 77 6 71
18 miZE | E] 41 39 80 8 72
19 H B Bk 41 40 81 9 72
20 )= 36 40 76 4 72
21 B EE 40 44 84 11 73
22 AT RH-E 42 38 80 6 74
23 RN 44 42 86 12 74
24 )1 &+ 43 43 86 12 74
25 HE 5L 39 44 83 9 74
26 WTH & 41 40 81 6 75
27 HH R 45 40 85 9 76
28 TN He 41 41 82 6 76
BB MHE HiE 41 40 81 3 78
30 HN MR 49 49 98 12 86

$THDCP

O = 00 © o O



= ]
=14

)L 7 B B

BHYS5X HDCP 13~40
20214 8H15H
JIEAT K4 OUT IN 18H HD NET
1 B F51E 43 45 88 29 59
2 7 B 45 47 92 29 63
3 HY BF0 47 52 99 36 63
4 (N 39 39 78 13 65
5 e 37 42 79 14 65
6 NCEI S 46 40 86 20 66
7 h s BT 41 39 80 14 66
8 KE H A 40 39 79 13 66
9 L EET 42 42 84 18 66
10 W H— 46 42 88 20 68
11 YN 43 46 89 21 68
12 L AfH 39 43 82 14 68
13 /NP EEAR 41 43 84 15 69
14 HE = 40 43 83 13 70
15 WTH FE— 44 45 89 18 71
16 NA 42 46 88 17 71
17 R SCHEL 41 46 87 16 71
18 Y.F 42 43 85 13 72
19 A S2E 56 47 103 30 73
20 FA % 48 49 97 23 74
21 A 5 47 50 97 23 74
22 Vg 181 47 51 98 24 74
23 Ty E— 44 44 88 13 75
24 AH &2 49 45 94 18 76
25 A = 49 47 96 20 76
26 A SCH 48 44 92 15 77
27 FEVT 47 43 90 13 77
28 fHH Fi 42 48 90 13 77
29 FElg 5 — 48 48 96 18 78
30 e =4 50 48 98 18 80
31 R JiE— 50 53 103 23 80
32 HE & 49 50 99 16 83
33 R e 52 53 105 22 83
BB HAR & 57 64 121 34 87
35 ) SEF 59 57 116 21 95
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